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Q.1 Which number will replace the question mark (?) in the following series?

4, 80, 5, 40, 7, 40, 11, 60, 19, ?

Ans  of 1 120
< 2.102
25 3.130
25 4.103

Question ID : 8161619767
Status : Not Answered
Chosen Option : --

Q.2  Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.
P
LANDMARK |
Q

Ans X I TVUDIVEEK

X2 AAAVAMAI
i AdAMAWMAI

X+ TVINDUVEK

Question ID : 8161619182
Status : Answered
Chosen Option : 3
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Q.3 Select the correct option that indicates the arrangement of the given words in a logical
and meaningful order.

1.Chandigarh
2.Rock Garden
3.Asia

4. India
5.World

Ans X" 123 4,15
< 2.5,3,4,2,1

25 3.3,54,1,2

o 453412

Question ID : 8161619341
Status : Answered
Chosen Option : 4

Q.4 Vinesh walks 45 m towards the east from his office and then he turns left and walks 28
m. Then he turns left again and walks 25 m. After that he turns right and walks 32 m.
He finally turns left and walks 20 m. How far is he from his office now?

Ans X 1 45m
< 2.52m
25 3.53m
o 4.60m

Question ID : 8161619360
Status : Answered
Chosen Option : 4

Q.5 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Verification
2. Ventricle

3. Verbatim

4. Ventilator

5. Venereology

Ans X" 152413
W 254231
75 3.5,4,3,1,2

75 4.52.1,3,4

Question ID : 8161619143
Status : Answered
Chosen Option : 2
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Q.6 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

K<

Question ID : 8161619879
Status : Answered
Chosen Option : 3

Q.7 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Sound : Echo
Ans x 1. Happiness : Feeling

K 2. Drama : Scene
< 3.Sight : Pupil
o 4. Light : Reflection

Question ID : 81616110050
Status : Answered
Chosen Option : 2
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Q.8 Select the number from among the given options that can replace the question mark
(?) in the following series.

74,101, 133, 175, 237, ?

Ans  of 1 339
25 2.453
X 3.317
5 4.415

Question ID : 8161619368
Status : Not Answered
Chosen Option : --

Q.9 Select the correct combination of mathematical signs to sequentially replace the *
signs and to balance the given equation.

18*12*4*5*6=53

LUCHE
Xz.x -t
«3.x o+, -
K Ax 4 s -

Question ID : 81616110075
Status : Answered

Chosen Option : 3

Q.10 wm?ﬁwﬁmw 31, fearm iR AR, T @159 PrieH # UH T A &
iy S3T 21

1. 378 A 9 A & Fg B iR AT §
2. fear e wur ik gRim F fa F adt
3. gftfar, a1 & 918 IR g VWA W 8
4. %0, gRfa & o R AL VAW R

5. gitar, gfofar & a1 3R R R R R

a1 & a1$ 3R g RIM R 319 331 82
Ans X =07

o 2 5
25 3. amfF

< 4.

Question ID : 81616110065
Status : Not Answered
Chosen Option : --

Q11 I fapey 1 79 PR e T 2 I 981 H99 &, & g g BT Ugd W A 71
foiaT BT : Wipd BT : : I ST : 2
Ans X 1 TgMl
< 2. 3EHHl
W 3 T E

25 4. 3PIaC STl

Question ID : 8161619747
Status : Not Answered
Chosen Option : --
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Q.12 Select the option in which the two numbers are related in the same way as are the two
numbers of the given number-pair.

21:420
Ans 3 1.20:330

< 2.17:289
< 3.15: 241
W 4. 18:306

Question ID : 8161619369
Status : Answered
Chosen Option : 3

Q.13 Select the option that is embedded in the given figure as its part (rotation is NOT allowed).

Ans

-
it

Question ID : 8161618981
Status : Answered
Chosen Option : 2

Q.14 Select the letter from among the given options that can replace the question mark (?)
in the following series.

J,L,0,8,?2,D

Ans X" 1B
X2z
X 3.u
W 4

Question ID : 8161619336
Status : Not Answered
Chosen Option : --
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Q.15 Select the option in which the numbers are related in the same way as are the
numbers in the given set.

(5, 18, 32)
Ans X 1 (6,22, 42)
25 2.(4,14,32)
25 3.(8,32,64)
W 4.9, 34,64)

Question ID : 8161619872
Status : Not Answered
Chosen Option : --

Q.16 Select the option that is correct for the bracketed letters with respect to their inclusion
in the given series.

UGRL(P),QLVILAF(G)
Ans X" 1. Both the bracketed letters are correct.

x 2. The first bracketed letter is correct and the second bracketed letter is incorrect.
“ 3. Both the bracketed letters are incorrect.

x 4. The first bracketed letter is incorrect and the second bracketed letter is correct.

Question ID : 8161619837
Status : Answered
Chosen Option : 3

Q17 o ufgar vydite 9 il & 33 § ok vd® ufed & S Ft gd 5 m 81 T w198
IR DI 3R 2, 5 1P S e ufea A B, Srael SIftrl & &€ 3R 24 m R g, afe
I dfd § o, Drach F Sto i 7, Stafe fifven et & s # g1 iven sk
e & i g gt frait 32

Ans 3 1 25m
o 2.26m
25 3.24m
25 4.20m

Question ID : 8161619161
Status : Answered
Chosen Option : 3

Q.18 wa%&:-gmmmaﬁﬁqﬁﬂ%mﬁﬂ?wwaﬁwﬂ%ﬁﬁqwm@w%mﬁ%?
qA R

T : deu=mTen

Ans o 1 AT : v
XZ.IIW:W
25 3. gt ureR ; eI
/X 4 TR YRRe

Question ID : 8161619849
Status : Answered
Chosen Option : 1
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Q.19 In a certain code language, FIXTURES is coded as 64 and NOVICE is coded as 36. How
will TRIAL be coded in that language?

Ans  of 1 25
5 2.62
/5 3.48
/X 4.81

Question ID : 8161619356
Status : Answered
Chosen Option : 2

Q.20 Which two signs should be interchanged to make the given equation correct?

5x132+11-28+70=18
Ans & 1 - and x

x2.+andx
J3.+and—
X4.+andx

Question ID : 8161619774
Status : Answered
Chosen Option : 3
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Q.21

Ans

Select the option that is embedded in the given figure. (rotation is NOT allowed).

S

5 4

Question ID : 8161619880
Status : Answered
Chosen Option : 2

Q.22 Select the correct option that indicates the arrangement of the given words in a logical

Ans

and meaningful order.

1. Dog

2. Buffalo
3. Rabbit
4. Lizard

5. Lion

25 1.4,1,3,52
W 243152

25 3.2,531,4

25 4.2,3,51,4

Question ID : 8161619142
Status : Answered
Chosen Option : 2
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Q.23 select the Venn diagram that best illustrates the relationship between the following classes.

Chimpanzee, Bear, Animal

Ans

O

5 3.

< 4

090@

Question ID : 8161619784
Status : Answered
Chosen Option : 2

Q.24 In a certain code language, RAIN is written as SW and COATER is written as RUW. How
will REMADE be written in that language?

Ans  of 1 WNI
75 2.GNI
&5 3. WPF
25 4. WKJ

Question ID : 8161619355
Status : Not Answered
Chosen Option : --

Q.25 There are 14 people in a joint family and the average age of all the family members is
30 years. Now, a baby boy is born in that family. After 4 years, what will be the average
age of all the family members?

Ans X" 1 35years

K 2. 33 years
\, 3. 32 years
X 4. 30 years

Question ID : 8161619176
Status : Not Answered
Chosen Option : --
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Q.26 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Galvanometer : Electricity : : Anemometer : ?
Ans x 1. Current

‘f 2. Wind speed
x 3. Air pressure
75 4. Altitude

Question ID : 8161619746
Status : Not Answered
Chosen Option : --

Q.27 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Veracity

2. Veranda

3. Vernacular
4. Verdict

5. Vertigo

Ans X" 11,2345

212435

25 3.2,1,4,3,5

< 4.52,4,3 1

Question ID : 8161619343
Status : Answered
Chosen Option : 2

Q.28 In a certain code language, LAYOUT is written as NWEQQZ. How will CHANGE be
written in that language?

Ans X" 1 EGLCQK

o 2. EDGPCK

25 3.ELGQCK

75 4.EDGLKK

Question ID : 8161618954
Status : Answered
Chosen Option : 2
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Q.29 Three statements are given, followed by four conclusions numbered I, II, IlI, IV.
Assuming that the information given in the statements is true, even if it appears to be

Ans

at variance with commonly known facts, decide which of the given conclusions
logically follow from the statements.

Statements:

1. All students are experts.

2. Some experts are tutors.

3. All tutors are Indians.
Conclusions:

|. Some Indians are experts.
Il. Some Indians are students.

1ll. No Indian is a student.
IV. All tutors are experts.

x 1. All the conclusions follow
X 2. Only conclusions 1V, and either Il or Il follow
J 3. Only conclusions |, and either Il or Il follow

< 4. Only conclusions I, Il and IV follow

Question ID : 8161619759
Status : Answered
Chosen Option : 3

Q.30 Select the option that is related to the third letter-cluster in the same way as the

Ans

second letter-cluster is related to the first letter-cluster.

PRINCE : FDOJSQ : : LANTERN : ?
25 1. OSUGOMN

7% 2. MBOSFSP
o 3. OSFUOBM

&< 4.NCPVGTP

Question ID : 8161619352
Status : Answered
Chosen Option : 3
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Q.31 A paper is folded and cut as shown below. How will it appear when unfolded?

% "
r L | el
---------- !--——
: ! i |
Ans
o0
v
1
ol b4
o 0
v o00og
4a p
vz 9V
b oo d
v <
(o] )
Xs.o °
b 4
v o049
ov<Jo
x4'0¢-€:~.0
b5 oo 4

Question ID : 81616110083
Status : Answered
Chosen Option : 2

Q.32 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Egypt : Cairo
Ans X 1. Ireland : Jakarta

K 2. Brussels : Belgium

\f 3. Austria : Vienna

x 4. Canada : Praia

Question ID : 8161618948
Status : Answered
Chosen Option : 3
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Q.33 If PUBLIC is coded as 7343186 and SACRED is coded as 10269108, then how
will VICTORY be coded?

Ans " 1 43624718
25 2.46341287
25 3.49326917

o 4. 41862697

Question ID : 8161619757
Status : Not Answered
Chosen Option : --

Q.34 Which letter cluster will replace the question mark (?) in the following series?

TAP, VZT, XYX, ZXB, BWF,?
Ans 3 1 EHV

25 2.EVH

W 3.0V
25 4.DJV

Question ID : 81616110038
Status : Answered
Chosen Option : 3

Q.35 Two Statements are given followed by Two conclusions numbered | and Il. Assuming
that the information given in the statements is true, even if it appears to be at variance
with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. Some tractors are cars.
2. All cars are autos.
Conclusions:

I. All autos are cars.
1I. All tractors are autos.

Ans " 1 Only conclusion Il follows
x 2. Only conclusion | follows
( 3. Neither conclusion | nor 1I'follows

K 4. Both conclusions | and Il follow

Question ID : 8161619858
Status : Answered
Chosen Option : 3

Q.36 If 12 May 2011 was a Thursday, then what was the day of the week on 10 May 2004?
Ans f 1. Monday

x 2. Tuesday

x 3. Saturday
x 4. Sunday

Question ID : 8161619377
Status : Not Answered
Chosen Option : --
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Q.37 Select the option that is related to the third term in the same way as the second term is
related to the first term.

STRANGER : MZIZMTYX :: RESTRAIN : ?
Ans X 1 LLHGIZBT

25 2. KKHGIZBT
25 3.LKIGHZCT

W 4. LkHGIZCT

Question ID : 8161619853
Status : Answered
Chosen Option : 3

Q.38 Select the option that is related to the third number in the same way as the second
number is related to the first number.

5:7::11:2
Ans X 1 130
W 2103
753,110
< 4.101

Question ID : 8161619171
Status : Not Answered
Chosen Option : --

Q39 L, M,N, U,V 3R WIRIR & D Wa= 31V, U BT GA g, AP U, V B A 761 31 M, U FT
Y BI W SR U T& [arfRa sisT 8 IN, WS TR 8, sl fh L Fr aga 81

VTN d T IEY 32
Ans ..,13.[1—5‘
75 2. foar
P R
S 4.8

Question ID : 8161619162
Status : Answered
Chosen Option : 1

Q.40 Which number will replace the question mark (?) in the following series?

4,3,11,17, 53,101, ?
Ans X 1 350

75 2.308
< 3.380
o 4305

Question ID : 81616110066
Status : Not Answered
Chosen Option : --
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Q.41 ‘A + B’ means ‘A is the daughter of B’,
‘A = B’ means ‘A is the sister of B’, and
‘A * B’ means ‘A is the brother of B’.

If‘Qr*K=M+W A~ §’, then how is W related to Q?
Ans J 1. Father

x 2. Brother
?\{ 3. Sister
x 4. Mother

Question ID : 8161619363
Status : Answered
Chosen Option : 1

Q.42 A cube is formed by folding the given sheet. In the cube so formed, which number will be on the face opposite to the
face showing the number “2°?

5

4 (3

1

3 2

Ans x1_ 6
v 4
53
&4

Question ID : 8161619778
Status : Answered
Chosen Option : 2

Q43 140 faeznfimt $r v Faw &, 16 Toeame medeadr v sy sfagfEr & & G o afafafe &
T 4 S| 70 Tt wesicady siw 77 faegmedft amep sfewifEer & s o €1 e faeamedt
TeAler HT 3y wiEEiEen, aet AR & aer o 2

Ans  of 1 93
X2 32
<3 29
<420

Question ID : 8161619385
Status : Answered
Chosen Option : 1

Q.44 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

4318

5627
737

Ans  of 1 27
25 2.19
/X 3.25
/< 4.18

Question ID : 8161619873
Status : Not Answered
Chosen Option : --
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Q.45 [Td BT, 30, U, T, e, fawe, ae ok Mifde v Ma v & uia: g 31 i
ST gleT 98 & 3R vt armelt ufiaiemn & ar A waf s W@ 7

(i) fawra St 3 iR e & s A a1 21
(ii) g1 3R 9% & g ® Mfdg Tt doT 81
(iii) e St 3T & e o1 B

U & Y 3R 1 § PI-5H I3 2
Ans " 1 3m IR faam
W 2 7 R T
75 3.9 SR faa
25 4. 3 R fawra

Question ID : 8161618964
Status : Not Answered
Chosen Option : --

Q.46 Select the option that is related to the third term in the same way as the second term is
related to the first term.

GROUND : INQQPZ : : REFINE : ?
Ans " 1 UBHEQD

/% 2. UBEHDQ
75 3. TAIDPA

o 4. TAHEPA

Question ID : 8161619151
Status : Answered
Chosen Option : 4

Q.47 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

KZRS, HWUV, ETXY, ?, YNDE
Ans X 1 CPAC

#7< 2.BRAD
W 3.BQAB
75 4.CQAF

Question ID : 8161619339
Status : Answered
Chosen Option : 3

Q.48 Which letter cluster will replace the question mark (?) in the following series?

SOLVE, OOLVE, OULVE, OUHVE, OUHBE, ?
Ans  of 1 OUHBA

#5 2. OHUBA
#5 3. OUHVA
/5 4. OVUHA

Question ID : 8161618940
Status : Not Answered
Chosen Option : --
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Q.49 Select the option that is related to the third number in the same way as the second
number is related to the first number.

4:128::6:7
Ans & 1.430

o 2 432
75 3.433
75 4431

Question ID : 8161619770
Status : Not Answered
Chosen Option : --

Q.50 ‘Iran’ is related to ‘Rial’ in the same way as ‘Japan’ is related to * .
Ans & 1 Dirham

J 2. Yen
X 3. Dollar
x 4. Dinar

Question ID : 8161618945
Status : Not Answered
Chosen Option : ==

Section : General Awareness

Q.1 The Chilahati-Haldibari rail link between India and was reopened after a gap of
55 years in December 2020.

Ans J 1. Bangladesh
x 2. Nepal
x 3. Bhutan

x 4. Myanmar

Question ID : 8161619792
Status : Not Answered
Chosen Option : --

Q2 YRd ¥ Tw. e, A F R, Fufaleae & 3 frw g # yra & w@a: srguifea ant
[ 3 A 100% Tw.EY.3ms. Y srgufa A1 82

Ans X 1 fnfor-faer uftasmg
X 2. e urdh
75 3. SFIREUIUE HRITA oA
o 4. o TRef woRRm

Question ID : 8161619795
Status : Not Answered
Chosen Option : --
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Q.3 During the financial year 2019-20, from which of the following countries are the
highest amounts of FDI (foreign direct investment) inflows received by India?

Ans & 1 Japan
J 2. Singapore
#% 3. Mauritius

/X 4. UK

Question ID : 8161619794
Status : Not Answered
Chosen Option : --

Q.4 Who invented the X-ray?
Ans 3" 1.JJ Thomson

J 2. WK Roentgen
Z< 3. Edwin Hubble
75 4. Galileo Galilei

Question ID : 8161619800
Status : Not Answered
Chosen Option : ==

Q.5 In 2020, Poulomi Ghatak announced her retirement from:
Ans  of 1 table tennis

x 2. cricket
x 3. football

#< 4. basketball

Question ID : 8161619434
Status : Not Answered
Chosen Option : --

Q.6 In which of the following states/union territories was the world’s longest highway
tunnel opened in October 2020?

Ans K 1. Jammu and Kashmir
x 2. Arunachal Pradesh
25 3. Sikkim

“ 4. Himachal Pradesh

Question ID : 8161619891
Status : Answered
Chosen Option : 1

Q.7 In December 2020, which of the following State Governments gave permission to hold
the popular bull taming sport Jallikattu with certain restrictions?

Ans X" 1. Andhra Pradesh
x 2. Karnataka

o 3. Tamil Nadu

x 4. Kerala

Question ID : 8161619388

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q.8 Article 80 of the Constitution of India lays down the maximum strength of Rajya Sabha

as:
Ans  of 1. 250

75 2.238
75 3.240
X< 4.262

Question ID : 8161619830
Status : Answered
Chosen Option : 1

Q.9 Amino acids are the building blocks of:
Ans & 1 minerals

x 2. vitamins

x 3. carbohydrates

J 4. proteins

Question ID : 8161619804

Not Attempted and
Marked For Review

Chosen Option.: ==

Status :

Q.10 Which food component has the highest gross calorific value?
Ans X 1. Carbohydrates

of 2 Fats
X 3. Vitamins
X 4. Proteins

Question ID : 81616110100
Status : Answered
Chosen Option : 1

Q.11 A body having very high mass is bound to have high
Ans X 1. retardation

« 2. inertia

x 3. acceleration

x 4. velocity

Question ID : 8161619007
Status : Answered
Chosen Option : 1

Q.12 Operation ‘Smiling Buddha’ is associated with:
Ans  off 1. india's first nuclear test

X 2. India’s first cloned baby
25 3. India’s first HYV seed
x 4. India’s first GM crop

Question ID : 8161619609
Status : Answered
Chosen Option : 1
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Q.13 Which of the following instruments is used for detecting current in an electric circuit?
Ans x 1. Calorimeter

?\{ 2. Sonometer
I 3. Galvanometer

x 4. Manometer

Question ID : 8161619398
Status : Answered
Chosen Option : 3

Q.14 Which of the following cities is NOT one of the four cities from India selected by the
World Economic Forum in November 2020 for pioneering a new global policy roadmap
for the smart cities developed by the G20 Global Smart Cities Alliance?

Ans " 1 Hyderabad

£5 2. Faridabad

x 3. Indore

o 4. Chandigarh

Question ID : 8161619893

Not Attempted and
Marked For Review

Chosen Option : ==

Status :

Q.15 ‘Shaheen - IX’, a joint air exercise was held in 2020 between:
Ans 5" 1_China and India

x 2. India and Afghanistan
x 3. India and Pakistan

« 4. Pakistan and China

Question ID : 8161619391
Status : Not Answered
Chosen Option : --

Q.16 ‘Sericulture’ is related to the:

Ans X" 1 growing of fruits
x 2. production of jute
« 3. rearing of silkworms

x 4. rearing of honey bees

Question ID : 8161619411
Status : Not Answered
Chosen Option : --

Q.17 Which of the following modern states witnessed the origin of the ‘Vaikom’ movement?
Ans & 1. Sikkim

Z< 2. Andhra Pradesh
?\{ 3. Goa
J 4. Kerala

Question ID : 8161619426
Status : Not Answered
Chosen Option : --
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Q.18 An is an investment made by a firm or individual in one country into business
interests located in another country.

Ans  of 1 FDI
x 2. Forex
/5 3.CRR
/X 4.SEZ

Question ID : 8161619596
Status : Answered
Chosen Option : 1

Q.19 Which of the following units is used for measurement of concentration (of the amount
of a substance)?

Ans  off 1 Nole

?\{ 2. Tesla
x 3. Joule
x 4. Lux

Question ID : 8161619907
Status : Answered
Chosen Option.: 1

Q.20 IR 7} BT I5H WA P T A B
Ans  of | wfcs

25 2. sffy TeE
75 3. dfarg
K 4 aRa

Question ID : 8161619217
Status : Not Answered
Chosen Option : --

Q.21 In which state is Ranthambore National Park located?

Ans X" 1 Madhya Pradesh
x 2. Maharashtra
X 3. Uttar Pradesh

« 4. Rajasthan

Question ID : 8161619818
Status : Answered
Chosen Option : 4

Q.22 With reference to computers and the internet, which of the following viruses makes
changes to a disk’s file system?

Ans x 1. Stealth virus
“ 2. Cluster virus
x 3. Macro virus

x 4. Polymorphic virus

Question ID : 8161619787
Status : Not Answered
Chosen Option : --
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Q.23 In a Windows Operating System, what is the short cut key for undoing a task?
Ans  of 1 cl+z

25 2.ctl+A
< 3.ctri+C
S 4ctl+y

Question ID : 8161619186
Status : Answered
Chosen Option : 1

Q.24 The volume of the ‘Akbar Nama’ is known as Ain-i-Akbari.
Ans & 1 first

o 2. third
#5 3. fourth
x 4. second

Question ID : 8161619423
Status : Not Answered
Chosen Option : --

Q.25 Who among the following have been jointly named Time’s ‘Person of the Year 2020°?
Ans ?\{ 1. Joe Biden and Greta Thunberg

x 2. Joe Biden and Donald Trump
x 3. Greta Thunberg and Malala Yousafzai

J 4. Joe Biden and Kamala Harris

Question ID : 81616110088
Status : Answered
Chosen Option : 4

Q.26 are species which are only found in some particular areas usually isolated by
natural or geographical barriers.

Ans x 1. Rare species
x 2. Endangered species
« 3. Endemic species

x 4. Vulnerable species

Question ID : 8161619412

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.27 Who among the following discovered the Microwave?
Ans « 1. Percy Spencer

x 2. Henri Becquerel
x 3. Dmitri Mendeleev

x 4. Wilson Greatbatch

Question ID : 8161618999
Status : Not Answered
Chosen Option : --
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Q.28 The rim of the Pacific is also called ring of

Ans " 1. Hail
#< 2. Stream
x 3. Storm
o 4 Fire

Question ID : 8161619615

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.29 As per National Horticulture Database published by National Horticulture Board,
during 2015-16, India held the first position in the world for producing which of the
following fruits?

Ans & 1 Orange
J 2. Mangoes
x 3. Apricot
x 4. Grapes

Question ID : 81616110119
Status : Not Answered
Chosen Option : ==

Q.30 Which of the following is called the amphibian of the plant kingdom?
Ans " 1 Thallophyta

J 2. Bryophyta
x 3. Cryptogam

X 4. Phanerogam

Question ID : 8161619209
Status : Not Answered
Chosen Option : --

Q.31 Who among the following was honoured with the ‘Global Visionary of Sustainable
Business and Peace’ award during the launch of the Federation of Indo-Israel
Chamber of Commerce’s international chapter in Dubai on 21 December 2020?

Ans X" 1 NR Narayana Murthy
< 2. Mukesh Ambani
75 3. Azim Premiji

4’ 4. Ratan Tata

Question ID : 81616110128

Not Attempted and
Marked For Review

Chosen Option : --

Status :



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q.32 fofafEd & @ fee) ugar dewyt s 997 $1 ¥ fier?
Ans ?( 1. o g1

25 2. T SHAREAH SRR

75 3. TP

o 4 < AR

Question ID : 8161619833
Status : Answered
Chosen Option : 4

Q.33 The frequency of a wave is the reciprocal of its
Ans X 1. amplitude

X 2. wavelength
x 3. speed

J 4. time period

Question ID : 8161619005
Status : Answered
Chosen Option : 4

Q.34 Which of the following wildlife sanctuaries is located in Goa?

Ans ( 1. Bhagwan Mahavir Wildlife Sanctuary
75 2. Chinnar Wildlife Sanctuary
< 3. Dandeli Wildlife Sanctuary

X 4. Interview Island Wildlife Sanctuary

Question ID : 8161619820
Status : Answered
Chosen Option : 1

Q.35 Which of the following is NOT an electrical insulator?
Ans  of 1 Gold

2% 2. Diamond

#< 3. Rubber

x 4. Glass

Question ID : 81616110111
Status : Not Answered
Chosen Option : --

Q.36 is caused by severe protein deficiency.
Ans x 1. Xerophthalmia

X 2. Goitre
#< 3. Rickets

“ 4. Kwashiorkor

Question ID : 8161619612
Status : Answered
Chosen Option : 4
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Q.37 The number of protons in a Lithium nucleus is:
Ans & 1 two

X 2. four
J 3. three
X 4. o0ne

Question ID : 8161619405
Status : Not Answered
Chosen Option : --

Q.38 The mass of an electron is nearly one upon times that of a proton.
Ans & 13000

#< 2.1500
W 3. 2000
25 4.1000

Question ID : 8161619598
Status : Answered
Chosen Option : 2

Q.39 Which is the only active volcano in India?
Ans X 1. Deccan Traps

“ 2. Barren Island
x 3. Baratang Island

x 4. Narcondam Island

Question ID : 8161619816
Status : Answered
Chosen Option : 2

Q.40 As of December 2020, which of the following languages does NOT figure in the Eighth
Schedule of the Indian Constitution?

Ans X" 1 Dogri

o 2. Bhojpuri

< 3. santhali

#< 4.Bodo

Question ID : 8161619630

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.41 Which team became the champion at the 2018 Asian Games Women’s football?
Ans X 1. South Korea

“ 2. Japan
x 3. Malaysia

75 4. Thailand

Question ID : 8161619635
Status : Not Answered
Chosen Option : --
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Q.42 Given below are four hill stations in India.
(P) Munnar
(Q) Coorg
(R) Mount Abu
(S) Dalhousie

Which of the following presents the correct order of their locations from South to
North?

Ans X 1. QSPR

/5 2.QRPS

W 3.PaRs

/5 4.QPSR

Question ID : 8161619221

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.43 1919 ¥, Midhsht A T@rE ¥ e s b ut, forrss e ekie 3 SiCg
i uifa fomam am

Ans x1.WEEE
S 2. g amfuae
< 3. 3 TR T
W 4 e TR

Question ID : 81616110125
Status : Answered
Chosen Option : 4

Q.44 Which of the following is NOT a work of Kalidasa?
Ans x 1. Kumarasambhava

x 2. Meghaduta
x 3. Vikramorvashi

\f’ 4. Kama Sutra

Question ID : 8161619025

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.45 The 'Chauri Chaura incident' took place in 4
Ans " 11930

25 2.1910
5 3.1915
W 41922

Question ID : 81616110122
Status : Answered
Chosen Option : 4
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Q.46 is mainly derived from citrus fruits and juices such as lemons, oranges and
sweet limes/mousambis.

Ans X" 1 Vitamin B
#5 2. Vitamin K
o 3. Vitamin C
25 4. Vitamin E

Question ID : 81616110098

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.47 Which of the following Articles of the Constitution of India provides the procedure for
impeachment of the President?

Ans & 1 Article 77
5 2. Article 70
o 3. Article 61

25 4. Article 84

Question ID : 8161619929
Status : Answered
Chosen Option : 3

Q.48 Which of the following Articles is associated with the establishment and constitution
of Supreme Court?

Ans  of 1 124
5 2,197
25 3.202
X 4.152

Question ID : 8161619632
Status : Answered
Chosen Option : 1

Q.49 ‘Mind Master : Winning Lessons from a Champion's Life’ is the autobiography of:
Ans X 1. Pentala Harikrishna

x 2. Magnus Carlsen
« 3. Viswanathan Anand

x 4. Koneru Humpy

Question ID : 8161619027
Status : Not Answered
Chosen Option : --

Q.50 Which of the following scientific principles is mainly behind the generation of
hydroelectric power?

Ans x 1. Conversion of gravitational energy into electrical energy
x 2. Conversion of gravitational potential energy into thermal energy
?‘( 3. Conversion of electrical energy into kinetic energy

f 4. Conversion of gravitational potential energy into electrical energy

Question ID : 8161619913
Status : Answered
Chosen Option : 4
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Section : General Engineering Electrical

Q.1 The maximum values of the alternating voltage and current are 400 V and 20 A, respectively, in a circuit. The frequency

of the alternating quantities is 50 Hz, and these quantities are sinusoidal. The phase angle of the current with respect to

voltage is 8 . Choose the correct expression for the voltage and current with respect to time £ .
Ans " . .
X 1. v(t) = 400sin(100mt) V,i(t) = 20 sin(100mwt) A

V2
v(t) = 400 sin(100mt) V. i(t) = 20 sin(100mt +8) A

X< 3
v(t) = %“ sin(100mt) Vv, i(t) = j—; sin((100 + #m)t) A

¥4 v(t) = % sin(100mt) Vv, i(t) = j—; sin(100mt) A

Question ID : 8161619064
Status : Not Answered
Chosen Option : --

Q.2 Determine the load resistance R, that will result in maximum power delivered to the load for the given circuit, Also,
determine the maximum power B, delivered to the load resistor.

Ans X 1. R,=500Q0:P,,, =225W
K2R, =350:P,,. =200W
K3 R =200Q:PF,, = 200W
W4 R, =250:P,, .= 25W

Question ID : 8161619050
Status : Answered
Chosen Option : 4

Q3 Choose the INCORRECT statement with respeet to synchronous machines.

Ans X 1.

The rotating air gap field and the rotor in the machine rotate at the same speed.

v )

The power factor of the machine is always closer to 0.9 lag at any condition.

3.

It runs at a constant speed at steady state when if is connected to fixed supply with variable load.

< 4

The rotor poles are excited by a DC current, and its stator windings are connected to an AC supply.

Question ID : 8161619092
Status : Answered
Chosen Option : 2
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Q4 Which of the following lamps does NOT suffer from stroboscopic effect?
Ans 3 1. Fluorescent lamp

7< 2. Mercury vapour lamp
« 3. Incandescent lamp

< 4 Sodium vapour lamp

Question ID : 8161619325
Status : Answered
Chosen Option : 3

Q.5 With reference to series resonance, state whether the following statements are true or false.

L. Resonance frequency is the geometrical mean of the two half-power frequencies.
2. Atresonance, circuit behaves as resistive circuit.
Ans 1. Statement 1 is true and statement 2 is false
+' 2. Both the statements are true
#< 3. Statement 1 is false and statement 2 is true

7< 4. Both the statements are false

Question ID : 8161619266
Status : Not Answered
Chosen Option : --

Q6 Which of the following terms is NOT associated with diodes?

Ans

7< 1. Depletion region
v 2. Gate

#< 3. Cathode

< 4 Anode

Question ID : 8161619331
Status : Answered
Chosen Option : 1

Q.7 Which of the following feed water treatments is basically one type of thermal treatment?

Ans

7< 1. Coagulation

¥ 2 Deaeration
/< 3. Sedimentation
7< 4. Filteration

Question ID : 8161619306
Status : Not Answered

Chosen Option : --
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Q.8 Find the output voltage of the given network if E;, = 6 V and the Zener breakdown voltage of the Zener diode is 10 V.
Zene

e—k—r—Q
3
T + '

Eip ] K

lmué l

Ans X 1.4V
v ov
X310V
Kaev

Question ID : 8161619133
Status : Not Answered
Chosen Option : --

Q9 Ppole mounting substations are also known as:

Ans o 1. outdoor type
7< 2. indoor type
/< 3. open type

/< 4. basement type

Question ID : 8161619314
Status : Answered
Chosen Option : 1

Q.10 Two coils having self-inductance of L1 and L2, respectively. are magnetically coupled. The maximum possible value of
mutual inductance between the coils is:

Ans J1m
A 2 Li-+12
A3 Li=12
X4 LIxIL2

Question ID : 8161619255
Status : Answered
Chosen Option : 1

Q.11 A steam power station has an overall efficiency of 25%, and 0.5 kg of coal is burnt per kWh of electrical energy
generated. Determine the calorific value of fuel.

(Take heat equivalent of 1 kWhas 860 keal)
Ans 1. 1720 keal/kg
o 2. 6880 kcal/kg
7< 3. 3400 kecal’kg
75 4. 4650 keal/kg

Question ID : 8161619105
Status : Not Answered
Chosen Option : --
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Q12 Shaded pole motors are built commercially with the capacity of
Ans o 1. 3Wto 125 W

#< 2 5 kW and above

X 3 1 kWto 5 kW

X 4 500 W to 1 kW

Question ID : 8161619288
Status : Answered
Chosen Option : 3

Q13 Tdentify the source that has the following symbol.

Ig = glc

Ans % 1. Current-controlled voltage source
/< 2. Voltage-controlled voltage source
« 3. Voltage-controlled current source

75 4. Current-controlled current source

Question ID : 8161619044
Status : Answered
Chosen Option : 4

Q.14 Asingle-phase 240-V AC supply is used in a house consisting of 4 fans of 100 watts each and 20 lamp points of 60 watts

each. What will be maximum permissible leakage current for the house wiring?

Ans X' 1. 2,66 mA
¥ 2 1.33mA
X3 0.133A
X4 133A

Question ID : 8161619123
Status : Not Answered
Chosen Option : --

Q.15 Choose the INCORRECT statement with respect to single-phase hysteresis motor.

Ans X 1

The rotor is a smooth solid cylinder of hard steel and does not carry any winding.

W 2

The stator is wound with only one winding without capacitor.

p

The hysteresis motor has a low noise figure compared to the single-phase induction motor.

X 4

The phenomenon of hysteresis causes the rotor magnetisation to lag behind the stator-created MMF wave.

Question ID : 8161619089
Status : Answered
Chosen Option : 4
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Q16 Find the current required by a 400 V. 10 H.P. DC motor at 73.55% efficiency.
Ans X1 35A

<2 20A

<3 30A

v 2sA

Question ID : 8161619322
Status : Not Answered
Chosen Option : --

Q.17 Consider the following statements with respect to synchronous machines. State whether these statements are true or

false.

(a) Armature reaction is demagnetising when a generating machine supplies zero power factor lagging current.
(b) Armature reaction is magnetising when a generating machine supplies zero power factor leading current.

(c) Armature reaction is mostly cross-magnetising, though it has a small demagnetising component. when a generating

machine supplies unity power factor current.

Ans TiNgE 1. (a) False, (b) True and (c) False
« 2. (a) True, (b) True and (c) True
#< 3. (a) False, (b) True and (c) True
75 4. (a) True, (b) True and (c) False

Question ID : 8161619098
Status : Not Answered
Chosen Option : --

Q.18 Which of the following laws states that the line integral of the magnetic field intensity around a closed path is equal to
the total current linked by the contour?

Ans X 1. Thumb Rule
o 2. Ampere’s Circuit Law
#< 3. Fleming’s Law

#< 4. Faraday’s Law of Electromagnetic Induction

Question ID : 8161619053
Status : Answered
Chosen Option : 2

Q.19 The internal inductance of a long eylindrieal conductor of radius  carrying a sinusoidal current of I rms value is given

as:

Ans X 1. 5rx 1077 H/m
A2 5rx107° Wm
¥ 3 05%x1077 Hm
X4 5x1077 H/m

Question ID : 8161619111
Status : Not Answered
Chosen Option : --
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Q.20 is a heteropolar structure with stationary poles and a rotating armature.

Ans o 1. ADC machine
/< 2. A three-phase synchronous motor

7< 3. A single-phase induction motor

7< 4. Athree-phase induction motor

Question ID : 8161619076
Status : Answered
Chosen Option : 1

Q.21 In the Potier method of voltage regulation, which of the following characteristics is/are determined by conducting tests
on the machines rnning at synchronous speed?

(1) Open-circuit characteristic
(ii) Zero power factor (lagging) characteristic

(1i) short-circuit characteristic
Ans < 1. (i), (ii) and (iii)
« 2. Only (i) and (ii)
7< 3. Only (i) and (iii)
2< 4. Only (iii)

Question ID : 8161619097
Status : Not Answered
Chosen Option : --

Q22 WWhich of the following machines do NOT use equaliser rings?
Ans 3¢ 1. 4-pole duplex wave-wound DC machine

7< 2. 6-pole simplex lap-wound DC machine

o 3 4-pole simplex wave-wound DC machine

7< 4. 4-pole simplex lap-wound DC machine

Question ID : 8161619078
Status : Not Answered
Chosen Option : --

Q.23 The rotor of a hysteresis motor is made of ceramic permanent magnet material, which causes:

Ans % 1. no hysteresis losses
#< 2. stationary flux
+ 3. no eddy current losses

75 4. high eddy current losses

Question ID : 8161619290
Status : Answered
Chosen Option : 4



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q.24 ADC generator delivers a 30-A current to a load at 120 V by consuming 4500 J/s of mechanical energy. Determine the

Ans

X< 1.90%
< 2. 85%
< 3 75%
v 4 80%

efficiency of the generator.

Question ID : 8161619103
Status : Not Answered
Chosen Option : --

Q.25 1n asingle-phase, single-winding induction motor, let N, be the synchronous speed and N be the rotor speed. What will

Ans

be the rotor slip with respect to the backward rotating field?

o N+ N
N,—N
2.
~ N,
oo NtN
N,—N

Question ID : 8161619084
Status : Not Answered
Chosen Option : --

Q.26 A 200-V DC generator supplies 4 kW at a terminal voltage of 200 V, the armature resistance being 0.5 Q. If the machine

Ans

is operated as a motor at the same terminal voltage with the same armature current, find the ratio of the generator speed

N, to the motor speed Ny, .

r

W 2

5 3

32 |m2 32. |m2 32 |m2 32 |m2

=179

=1.105

= 0.905

= 0.833

Question ID : 8161619083
Status : Not Answered
Chosen Option : --
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Q27 A synchronous machine is called a doubly-excited machine because:
Ans X 1. it can be over excited

/< 2. it has two sets of rotor poles

/< 3. it needs twice the normal exciting current

' 4 its stator as well as rotor are excited

Question ID : 8161619282
Status : Answered
Chosen Option : 4

Q.28 What must be the minimum size of a GI earth electrode to be used to earth a 15-hp motor?
Ans X 1. 90 cm X 60 cm X 6 mm

v 2 60 cm x 60 cm x 6 mm

#< 3 60 cmx 60 cm X 3 mm

< 4 60 cmx 90 cm X 3 mm

Question ID : 8161619121
Status : Not Answered
Chosen Option.: ==

Q.29 A rectangular iron core has three coils as shown in the given figure. The number of turns of the coils are N, = 300,
N, = 600 and N, = 600, and the respective currents are 1.5 A, 4 Aand 3 A, Find the total magnetomotive force.

—==Hr——

|

i

AIR GAP L)

\

—H

L]
]
|
J

YEHE=—

of "y
Ans o 1. 1050 AT
X 2. 3750 AT

< 3. 4650 AT

X 4 1136 AT

Question ID : 8161619056
Status : Not Answered
Chosen Option : --

Q.30 The field coils of a 6-pole DC generator each having 500 turns are connected in series. When the field is excited, there
is a magnetic flux of 0.02 Wb/pole. If the field circuit is opened in 0.02 s and the residual magnetism is 0.002 Wh/pole,
calculate the average voltage induced across the field terminals.

Ans  of 116200V
< 2. 18000 V
X 3 14300V
< 43000V

Question ID : 8161619057
Status : Not Answered
Chosen Option : --
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Q.31 GivenV; = 25.0£0° Vand V, = 10.0£36.87° V are connected in series. Find the resultant voltage V, =V, + 1.

(Take cos 36.87° = 0.8, and sin 36.87° = 06)
Ans X 1. (17+j31) V

X2 (6+j33)V

w3 (33+j6)V

X4 (33+j19) Vv

Question ID : 8161619062
Status : Not Answered
Chosen Option : --

Q.32 Choose the INCORRECT statement with respect to the core type induction furnace.

Ans o 1. It is suitable for intermittent service only.
7< 2. It suffers from pinching effect.

7< 3. It must be run on a low-frequency supply.

< 4

The crucible for charge is of odd shape and is very inconvenient for tapping the molten charge.

Question ID : 8161619128
Status : Not Answered
Chosen Option : --

Q.33 The ratio of the flux density produced in a material to the flux density produced in vacuum by the same magnetising
force is known as of that material.

Ans 1. resistivity
/< 2. permeability
o 3. relative permeability
7< 4. absolute permeability

Question ID : 8161619051
Status : Answered
Chosen Option : 3

Q.34 1n a synchronous motor, which of the following losses is NOT met by motor AC input?
Ans X 1. Iron loss

/< 2. Stator Cu loss

+ 3. Rotor Cu loss

#< 4. Friction loss

Question ID : 8161619293
Status : Answered
Chosen Option : 3
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Q.35

Ans

Q.36

Ans

Q.37

Ans

Consider the following statements with respect to thermal power stations. State whether these statements are true or
false.

(a) They pollute the atmosphere due to the production of large amount of smoke and fumes.
(b) They are costlier in running cost as compared to hydroelectric plants.

(c) They require a larger space as compared to hydroelectric power stations for the same capacity of generation.

« 1. (a) True, (b) True and (c) False
/< 2. (a) False, (b) True and (c) True
7< 3. (a) False, (b) True and (c) False
7< 4. (a) True, (b) True and (c) True

Question ID : 8161619107
Status : Not Answered
Chosen Option : --

The potential difference across  is proportional to the rate of change of current in it.
/< 1. a capacitor
7< 2. aresistor and a capacitor
7< 3. an inductor and a capacitor

o 4 an inductor

Question ID : 8161619059
Status : Answered
Chosen Option : 4

Find the voltage *v,’ across 4 € resistor in the following circuit.

a

je

s0  (4)3a

A

“dp

K120V
X212V
W3 24V
X418V

Question ID : 8161619246
Status : Not Answered
Chosen Option : --
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Q.38 State whether the following statements regarding electric traction are true or false.

Ans

(a) Provision of a negative booster is essential in the case of electric traction.

(b) Communication lines that run parallel to the power supply lines of electric traction suffer from electrical
interference.

« 1. (a) True, (b) True

< 2. (a) True, (b) False
X 3. (a) False, (b) False
< 4. (a) False, (b) True

Question ID : 8161619124
Status : Not Answered
Chosen Option : --

Q39 YWhich of the following is NOT a shunt type fault?

Ans

« 1. Open conductor fault
/< 2. Double line to ground fault

#< 3. Line to line fault
/< 4. Single line to ground fault

Question ID : 8161619312
Status : Answered
Chosen Option : 1

Q.40 Ina 3-phase system, two-wattmeter method is used to measure the power. If one of the wattmeters shows a negative

Ans

reading and the other shows a positive reading, and the magnitude of the readings are not the same, then what will be
the power factor (p.f.) of the load?

W 1 00<p.f<05
K2 05<pfi<10
”< 3]

X405

Question ID : 8161619071
Status : Answered
Chosen Option : 1

Q4 p three-phase four-wire system is used for:

Ans

« 1. secondary distribution
< 2. generation station

7< 3. transmission
7< 4. primary distribution

Question ID : 8161619309
Status : Not Answered
Chosen Option : --
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Q.42 Ignoring the effect of armature reaction, if excitation of a synchronous motor running with constant load is increased. its

Ans

torque angle must:

« 1. decrease
75 2. increase
#< 3. become twice the no-load value

#< 4. remain constant

Question ID : 8161619298
Status : Answered
Chosen Option : 2

Q43 Choose the INCORRECT statement with respect to DC transmission systems.

Ans

Q.44

Ans

.

It has less corona loss and reduced interference with communication circuits.

> 2

The potential stress on the insulation is less in case of a DC system than that in case of an AC system, for the same

working voltage.

W 3

Electric power can be generated at a high DC voltage -for a DC transmission system.

< 4.

There is no skin effect in the transmission line in a DC transmission system.

Question ID : 8161619110
Status : Not Answered
Chosen Option : --

A 230-V, single-phase domestic energy meter has a constant load of 4 A passing through it for 6 h at unity power factor.

The meter disc makes 2208 revolutions during this period. What will be the energy consumed by the load if the meter

disc completes 1240 revolutions?
X 1. 2.5 kWh
X 2. 2.8 kWh
X 3 3.5kWh
W 4 3.1 kWh

[

Question ID : 8161619074
Status : Not Answered
Chosen Option : --

Q.45 1Ina DC machine, let ¢ be the flux per pole, w,, be the armature speed in rad/s, N, be the number of coil turns in the

Ans

armature and P be the number of peles. What will be the average coil EMF in that machine?

F 8 ER=M

P
™ 2K =M
= 60
X3 E, = ¢dw,N,P
Wi FE =M
g T

Question ID : 8161619079
Status : Not Answered
Chosen Option : --



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q.46 Ifi(t) = 50 cos (1007t + 10°) is the expression of a sinusoidal current, find the maximum amplitude.

Ans

Q.47

Ans

Q.48

Ans

< 1100 A
<2 86.6A
Vi3 50A

X4 T70.7TA

Question ID : 8161619260
Status : Answered
Chosen Option : 3

Two coils having self-inductance of 18 H and 2 H, respectively, are magnetically coupled and the mutual inductance
between them is 3 H. Find the value of coefficient of coupling.

X 1075
v 2 050
X 3 0.25
< 4. 0.60

Question ID : 8161619257
Status : Answered
Chosen Option : 2

Which of the following material has the least resistivity?
#< 1. Carbon

< 2. Silicon

v 3 Aluminium

/< 4. Polystyrene

Question ID : 8161619042
Status : Answered
Chosen Option : 2

Q49 Which of the following statements is INCORRECT regarding a transformer?

Ans

7< 1. It works on Faraday’s laws of electromagnetic induction.
/< 2. The frequency remains constant.
« 3 It amplifies the power.

/< 4. It transfers electric power from one circuit to another.

Question ID : 8161619277
Status : Not Answered
Chosen Option : --
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Q.50 The effect of transmission line capacitance may be ignored without much error if the lines are:

Ans

Q.51

Ans

Q.52

Ans

7< 1. in the range of 80 km to 120 km

v 2 less than 80 km
< 3. in the range of 80 km to 150 km

/< 4. in the range of 150 km to 200 km

Question ID : 8161619108
Status : Not Answered
Chosen Option : --

Choose the INCORRECT statement with respect to solid fuels and liquid fuels used in power generation.

r

Solid fuels have higher percentage of moisture, and consequently, they burn with great difficulty.
/< 2. Liquid fuels require special types of burners for burning.

W 3

Handling of solid fuels is easier. and they require less storage space.

7< 4. The waste product of solid fuels is a large quantity of ash.

Question ID : 8161619102
Status : Not Answered
Chosen Option : --

Which of the following factors influence earth resistance?
(a) Temperature of soil

(b) Moisture content of soil

(c) Depth at which the electrode is embedded

(d) Quality of coal dust and charcoal in the earth electrode pit.
#< 1. Only (a), (b) and (c)

/< 2. Only (a), (c) and (d)

W 3. (a), (b). (c) and (d)

/< 4. Only (a), (b) and (d)

Question ID : 8161619119
Status : Answered
Chosen Option : 3
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Q.53 State whether the following statements regarding transmission of power at high voltage are tue or false.
(a) It reduces volume of conductor required.
(b) It increases transmission efficiency.

(c) It decreases the cost of transformers, switchgear and other terminal apparatus.

Ans % 1. (a) False, (b) True (c) False
< 2. (a) True, (b) True (c) True
#< 3. (a) False, (b) True (c) True
« 4 (a) True, (b) True (c) False

Question ID : 8161619114
Status : Not Answered
Chosen Option : --

Q.54 The lightning discharge between clouds during a thunderstorm is 25 C. Find the time of the discharge if the average
lighting current is 2.5 kA.

Ans X 1. 1 second
< 2. 10 seconds
#< 3. 100 milliseconds
« 4. 10 milliseconds

Question ID : 8161619239
Status : Answered
Chosen Option : 4

Q.55 Choose the INCORRECT statement with respect to the DC system for railway.

Ans X 1

When operating under similar service conditions, a DC train consumes less energy than a one-phase AC train.

> 2

A DC system causes low electrical interference with overhead communication lines.

5 3

DC motors are better suited for frequent and rapid acceleration of heavy trains than AC motors.

W 4

DC train equipment is heavier and less efficient than similar AC equipment.

Question ID : 8161619127
Status : Answered
Chosen Option : 2
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Q.56 The three-lamp synchronisation method is used to synchronise an alternator with an infinite bus. In which of the
following conditions will all the three lamps darken and brighten in step?

Ans 1

Phase is not the same, but voltage, frequency and phase sequence are the same.

v %)

Frequencies are not the same, but voltages and phase sequences are the same.

5 3

Phase sequences are not the same, but voltages and frequencies are the same.

< 4

Voltages are not the same. but frequency and phase sequence are the same.

Question ID : 8161619095
Status : Not Answered
Chosen Option : --

Q.57 Usually, the expenditure on supervision charges is estimated to be _ of the total cost.
Ans X 1. 0.1% to 0.3%

V2 1%to 1.5%

< 3. 3% to 5%

K 4. 5% to 10%

Question ID : 8161619319
Status : Not Answered
Chosen Option : --

Q.58
Find the value of ‘v, in the following circuit.

I p
. 40 @vo
w—dE>
y i\
12V '\,:/‘I 4V 1\:9:/'
6 Q2
ik v'_o" »

Ans x1_ 12V
K296V
W3 48V
K424V

Question ID : 8161619249
Status : Answered
Chosen Option : 3
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Q59  specifies the safe voltage that the insulation of a cable can withstand.
Ans % 1. Minimum operating voltage
/< 2. Nominal operating voltage
« 3 Voltage grading of cables

/< 4. Specific voltage of cables

Question ID : 8161619118
Status : Answered

Chosen Option : 1

Q.60 Tphe total charge q(t), in coulombs, that enters the terminal of an element is:
0 <0
gth=+ 2 0<r<2
422 r2

Determine the currentatt =5 s.

Ans X1 DA

<2 2A

W3 —2e A

K434e8

+e " A
Question ID : 8161619041
Status : Not Answered
Chosen Option : --

Q.61

Determine the average and effective values of the given waveform.

vk

20

U 0.1 02 0.3 0.4 i
- seconds

AN K1 Vppy =66.7 VandV = Y1333 V

X2 Vg =667 VandV'=+/1333.3 V
X3 Vg =115 VandV =1333 v

V4 Vopy =6.67 VandV =+/1333 V

Question ID : 8161619065
Status : Answered
Chosen Option : 1
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Q.62 The equation of an alternating current is given as i(t) = 100 sin 100 . Find the instantaneous value after (1/600)
seconds.

Ans X 1. 70.7A
X2 86.6A
v s0A
X 4 100 A

Question ID : 8161619263
Status : Answered
Chosen Option : 2

Q63 yWhat is the SI base unit of electric current?
Ans X 1. Coulomb-Second

& 2. Second/Coulomb

W 3. Ampere

75 4 Coulomb/minute

Question ID : 8161619036
Status : Answered
Chosen Option: 3

Q.64 The phasor voltage and current across a load element are 100.0 £45° ¥ and 5.0 £15° A, respectively. Determine the
impedance and admittance of the load.

Ans X 1. Z=20.0+,-30"°0 and ¥ =0.05230°
W2 7Z=200230"0and¥ =0.0562-30"§
X3 Z=005230"0and¥ =202—30°s
K4 Z=0052-30"0and¥ =20 £30° s

Question ID : 8161619067
Status : Not Answered
Chosen Option : --

Q.65 Calculate the value of emitter current for a transistor with ¢g ¢ = 0.98, Irgo = 5 uA and Ig = 95 pA.
Ans X1 4.5mA

X2 4mA

X3 35mA

v i SmA

Question ID : 8161619334
Status : Not Answered
Chosen Option : --

Q.66 When a V-V system is converted into a A-A system, the capacity of the system increases by
Ans X 1. 86.6%

< 2. 66.7%

V'3 73.2%

< 4 50%

Question ID : 8161619279
Status : Not Answered
Chosen Option : --
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Q.67 Which of the following types of tendering should be resorted to only in case of an emergency requirements?

Ans o 1 Spot tendering
/< 2. Proprietary tendering
/< 3. Open tendering
/< 4. Global tendering

Question ID : 8161619116
Status : Not Answered
Chosen Option : --

Q.68 The fundamental frequency of an alternating quantity is 25 Hz. Find the corresponding angular frequency.

Ans  of 1. 50 1t rad/sec
< 2. 257 rad
< 3. 507 rad
/4 25 7 rad/sec

Question ID : 8161619061
Status : Answered
Chosen Option : 1

Q69 Determine the current i, in the given network.

40 2Q
MAN——\WN
12v(%) ; 3/, |
a

Ans o 1. —1 A
K21A
K3 —4
K44

Question ID : 8161619046
Status : Not Answered
Chosen Option : --

Q.70 WWhich of the following is NOT a fundamental unit, but a derived unit?
Ans X 1. Kelvin

v 2 Watt

< 3. Metre

/< 4 Kilogram

Question ID : 8161619237
Status : Answered
Chosen Option : 1



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q71 Determine the current in each branch (I, , I, I; and I, ) of the given network.

T

70

AR
Yy

Ans X 1.1, =9 AL =225A1,—=45Aandl, =2.25 A
K2k =6A% =24 K =3Aadl =1A
N3 hE=8BALE=2AL=%38adl; =2 A
i h=6AL=1bakb=3Aadl;=15 XA

Question ID : 8161619048
Status : Not Answered
Chosen Option : --

Q.72 1n an alternator at leading power factor, the armature flux _ the rotor flux.
Ans X 1. does not affect

/< 2. opposes

#< 3. distorts

v 4 aids

I Question ID : 8161619296

Status : Answered

L Chosen Option : 4

Q.73 A tansistor connected in a common base configuration has the following readings: Iz = 2 mA and I; = 20 p A, Find

the current gain @ .

Ans X 1. 0.95
X< 2 1.08
W 3 0.99
< 40.98

Question ID : 8161619134
Status : Not Answered
Chosen Option : --
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Q.74 Which type of motor could provide the given speed-torque characteristics?

300 — Centrifugal
switch
& operates
g
5 200
& 100
0 25 50 75 100
Percent synchroncus speed
Ans « 1.
Capacitor-start capacitor-run, single-phase induction motor
x 2

Permanently connected capacitor-run single-phase induction motor
7< 3. Shaded-pole single-phase induction motor

#< 4. Single-phase hysteresis motor

Question ID : 8161619090
Status : Answered
Chosen Option : 1

Q.75 Inanelement fromt = 0stot =53, 12 C of charge is entered. Find the flow of eurrent in that element.
Ans X1 12A

<2 60A

K3 12A

v 24A

Question ID : 8161619039
Status : Answered
Chosen Option : 4

Q.76 A 220-V, 50-Hz, 6-pole, single-phase induction motor runs with 3% slip. Determine the rotor speed.
Ans 1. 1455 rpm

/< 2. 728 rpm

W 3 970 rpm

75 4. 960 rpm

Question ID : 8161619087
Status : Answered
Chosen Option : 1
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Q.77

Ans

W
< 2
)
5 4

in a magnetic circuit is analogous to resistivity in an electrical circuit.
Reluetivity

Permeability

Field intensity

Flux density

Question ID : 8161619252
Status : Answered
Chosen Option : 1

Q78 The following data is available for a steam power station:

Ans

Maximum demand = 25 MW
Load factor = 0.4

Coal consumption = 0.88 kg/k'Wh
Boiler efficiency = 85%

Turbine efficiency = 90%

Price of coal =255 per tones

Find the thermal efficiency of the station.

r 0
W 2
5 3
< 4

65.2%
76.5%
99.8%

62.32%

Question ID : 8161619317
Status : Not Answered
Chosen Option : --

Q79 Eyreka is a commercial name of a heating element whose composition is:

Ans

r
W 2
5 3
5 4

70% iron, 25% chromium, 5% alumininm
55% copper and 45% nickel
80% nickel and 20% chromium

45% copper and 55% nickel

Question ID : 8161619328
Status : Answered
Chosen Option : 1
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Q80 wwhich of the following is an element of a hydroelectric power plant?

Ans

Q.81

Ans

Q.82

Ans

Q.83

Ans

W 1. Spillway
/< 2. Ball mill
/< 3. Chimney

7< 4. Economiser

Question ID : 8161619301
Status : Answered
Chosen Option : 1

In a synchronous machine, the ratio of the field current required to produce rated voltage on an open-circuit to the field
current required to produce rated armature current with the armature terminals shorted while the machine is
mechanically run at synchronous speed is termed as:

o 1. short circuit ratio

/< 2. synchronous resistance
/< 3. synchronous impedance

7< 4. synchronous reactance

Question ID : 8161619094
Status : Not Answered
Chosen Option : --

The Two watt meters A and B, give readings as 500 watts and 1000 watts respectively during the power

measurement of 3 - phase, 3 - wire system. Calculate the total power of the circuit.

W
<2

5
5 4

Question ID : 8161619073
Status : Answered
Chosen Option : 1

Which of the following meters is the most accurate instrument for measuring AC signals with frequencies lower than
200 Hz?

/< 1. Peak responding AC meter
/< 2. Thermocouple meter
+ 3. Electrodynamometer movement

< 4. Clamp-on meter

Question ID : 8161619272
Status : Not Answered
Chosen Option : --
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Q.84 1 single-phase induction motors. the starting winding is placed in
Ans o 1. the stator

< 2 the field

#< 3. the armature

< 4. the rotor

Question ID : 8161619285
Status : Answered
Chosen Option : 1

Q.85 Three resistors, 150 €2, 200 Q and 600 £ are connected in parallel. Find the effective resistance of the parallel
combination.

Ans X 1. 250 Q
X2 125Q
K3 45Q
v 750

Question ID : 8161619244
Status : Answered
Chosen Option': 4

Q.86 Before an alternator can be connected to an infinite bus, which of the following must be the same for the alternator and
the infinite bus?

Ans % 1. Only frequency
v %)

Voltage, frequency and phase sequence; and the phase difference between the alternator and infinite voltages must be

Zero

7< 3. Only voltage
7< 4. Only phase sequence

Question ID : 8161619100
Status : Answered
Chosen Option : 2

Q.87 In a steam power plant, which of the following is NOT an artificial draught?
Ans o 1. Chimney draught
7< 2. Induced draught
/< 3. Forced draught

7< 4. Balanced draught

Question ID : 8161619303
Status : Answered
Chosen Option : 4
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Ans

X1 e fEger
X 2 digex
X 3. TRer
v+ ADC #Hr DAC

—

Question ID : 8161619269
Status : Answered
Chosen Option : 4

Q.89 Which of the following machines has high power factor and efficiency under running conditions?

Ans

Q.90

Ans

/< 1. Capacitor-start single-phase induction motor
« 2. Two-value capacitor single-phase induction motor
7< 3. Resistance split-phase single-phase induction motor

7< 4. Shaded-pole single-phase induction motor

—

Question ID': 8161619086
Status : Answered
Chosen Option : 2

is an example of a passive transducer that uses the variation in electrical resistance in wires to sense the

produced by a force on the wires.
/< 1. Bimetallic strip: stress
o 2. Strain gauge; strain
< 3. LVDT;: strain
< 4. RVDT: stress

Question ID : 8161619070
Status : Answered
Chosen Option : 4

Q.91 During the measurement of voltage, the voltmeter responded with a 0.18-V change when the input was varied by 0.2 V.

Ans

Find the sensitivity of the instrument.

v 109
X2 0.18
<3 0.1
X402

Question ID : 8161619068
Status : Not Answered
Chosen Option : --
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Q.92 wWhich of the following types of capacitors can withstand the highest voltage level?
Ans o 1. Paper capacitor
7< 2. Polystyrene capacitor
/< 3. Mylar capacitor

/< 4. Electrolytic capacitor

Question ID : 8161619274
Status : Answered
Chosen Option : 4

Q.93 Consider an element represented by the relationship between current i(£) and voltage v(t) as follows: v(t) = i%(t).
This device is classified as:

Ans X 1. non-linear time variant

+ 2. non-linear time invariant
7< 3. linear time invariant

75 4. linear time variant

Question ID : 8161619038
Status : Not Answered
Chosen Option : ==

Q.94 Which of the following devices is used in voltage regulators and voltage limiters as a fixed reference voltage in the
network?

Ans 1. PIN diode
< 2. Varactor diode
W 3 Zener diode
< 4 Tunnel diode

Question ID : 8161619130
Status : Answered
Chosen Option : 3

Q.95 A four-pole, lap-wound DC machine has 462 conductors in the armature. The average flux per pole is 0.02 Wb.
Determine the induced armature voltage when the armature rotates at 1000 rpm.

Ans  of 1. 154V
<2 196V
X3 120V
X4 180V

Question ID : 8161619081
Status : Answered
Chosen Option : 1
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Q.96 The percentage voltage regulation of transmission lines is computed as:

(Where s is the sending end: R, receiving end; NL, no-load; FL, full-load)

e r R0 —IEF:EJJIVEL x 100

v 2 % X 100

X 3. WIETIII@E' X100

X 4 —MFLIEJJFLI X 100
Q.97 Semiconductors have  conduction band and
Ans X 1. alightly filled: a moderately filled

< 2
v )
&< 4

an almost filled; a moderately filled
an almost empty; an almost filled

an almost filled; an almost empty

Question ID : 8161619113
Status : Answered
Chosen Option : 1

valence band.

Question ID : 8161619132
Status : Answered
Chosen Option : 3

Q.98 Which of the following types of electric heating is NOT considered as high-frequency heating?

Ans % 1. Infrared heating

/< 2. Induction heating

< 3

Dielectric heating

o 4 Arc heating

Question ID : 8161619126
Status : Answered
Chosen Option : 4
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Q.99 Consider the following statements with respect to boundary conditions between two materials of different permeabilities
in magnetic cirenits. State whether these statements are true or false.

(i) The normal component of flux density is continuous across the boundary.

(i)  The tangential component of magnetic field strength is continuous across the boundary.
Ans < 1. (i) True, (ii) False

< 2. (i) False, (ii) False

o 3 (1) True, (ii) True

#< 4. (i) False, (ii) True

Question ID : 8161619054
Status : Not Answered
Chosen Option : --

Q.100 Ina cirenit, at a node, two currents Iy and I are entering the node and three currents I, Iy and I5 are leaving the node. If

KCL is applied at the node. the correct equation will be:

Ans X1 L+t + 1 +I5=0
XeLh+L+L=L+I4

Wil +h-;-I;—15=0
XaL—-L=L-I;-Is

- - 4 o S v
Question ID : 8161619242
Status : Answered
Chosen Option : 3

= ey J



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


